Consolidation 4 | -

i For questions 1 - 15, read the text below and decide which word A, B, C or D best fits each:g.
space. There’s an example at the beginning (0). '

Anorexia

Anorexia is a comparatively new illness and seems to be (0) ....... to the society we live in which
increasingly (1) ....... us on our appearance. The media encourages us to try to be (2) ....... and beauti-
ful. Falling short of these criteria can put enormous (3) ....... on the majority of us who are less than (4)
....... . Each year there are estimated to be at (5) ....... 2,000 new cases of anorexia. About one sufferer

in ten is male, but most anorexics are females in their teens and twenties who suffer (6) ....... a distorted
self image, feeling fat and ugly, (7) ..... slim and attractive they may appear to others. Though constantly
hungry, anorexics attempt to gain (8) ........... of their lives by (9) ............ to eat. The problem commonly
(10) ....... in teenage years, when responsibilities increase. In (11) ....... cases, it can (12) ....... anaemia,
heart and kidney problems and, in almost a fifth of the cases, death by starvation or secondary infection.
Treatment (13) ....... encouraging patients to (14) ....... weight by providing counselling and therapy which,

in essence, guides the sufferers (15) ....... a normal life.

0 A resulted B linked C caused D developed 0. é _B. é é

1 A watches B judges C measures D criticises | 2 é é é.

2 A narrow B slight C light D slim g A B C N
3 A pressure B tension C weight D force 3 é é é .—D_-,

4 A exact B perfect C excellent D good 4 é. — é é

5 A minimum B less C least D more 5 é. é é é.
6 A by B from C of D for 6 .—é, é .%, é

7 A whether B either C moreover D however 7 é. é ._i_J ;D:.

8 A control B direction C power D authority 8 é. é l—i—. é

9 A forbidding B refusing C rejecting D denying 3 é, é .—c_—. ,_%.

10 A develops B delivers C turns D takes 10. o e i =

11 A enlarged B extended C prolonged D expanded 1‘i .é, é ,—C_—. .D:_
12 A lead B catch C cause D give 1 é é S é_
13 A considers B involves C concerns D deals 13 l_i_, é é é,

14 A put B win C earn D regain 14 LR T

15 A in B from C at D towards 15 . é i 2

Complete the sentences using the words in bold. Use two to five words.

1 Are you likely to see him again?
chance s there ...any chance of your seeing... him again?
2 He was late because there was an accident on the motorway.
-due HE WEAS ..vvververesennressrrsssesssansisnsssssssssnresost hssssasessansisssnnssabisasionsesssnsissrisansns on the motorway.
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